Name: Practice
Econ 310 
Exam 03
· There are 110 possible points on this exam, but the exam is out of 100. 

· You have one hour and fifteen minutes to complete this exam, but you should be able to finish it in less than that.

· Please turn off all cell phones and other electronic equipment.

· You are allowed a calculator for the exam.

· Be sure to read all instructions and questions carefully.

· You are allowed one 3’’ x 5’’ note card to assist you in the exam. 

· Remember to show all your work.

· Recall basic logic. “Water is wet” is a true statement. “Water is wet and leopards have stripes” is a false statement.

· Please print clearly and neatly.
Part I: Multiple Choice. Circle the letter that corresponds to the best answer. 5 points each.
1. An option’s strike price:
a. Is the price of the option.

b. Is some future price established in the present.

c. Marks the point where a long or short position starts making or losing money.

d. A & C

e. None of the above

2. Consider a long put graph. How would you graph a short call holding all prices equal?
a. Rotate it along the asset price axis.

b. Rotate it along the strike price axis.

c. Rotate it along the contract price axis.

d. A & B
e. None of the above

3. Suppose you added a long put to a long strap. What is true about this configuration?

a. A stronger bet that the price of the asset will increase.

b. A pair of straddles.

c. A strip.

d. A & C

e. None of the above

4. All spreads:
a. Are composed of at least one call and at least one put.

b. Are composed of at least one long and at least one short.

c. Lower possible losses at the cost of diminishing possible gains.
d. B & C

e. None of the above

5. If you trade on information, which market would you prefer to trade in?
a. One of only noise traders, because it allows for disagreement.

b. One of only information traders, because it is never wrong.
c. One of only information traders, because it means you can collude.

d. B & C

e. None of the above

6. As LTCM began to collapse and world economy entered a period of turmoil, what did LTCM do and why?
a. They cut back their business to the bare bones to try to weather the storm.

b. Extended their trades even more because they thought the market would correct.

c. Went back to their roots and focused a lot of trades there.
d. A & C

e. None of the above

7. In When Genius Failed, Roger Lowenstein wrote “thus do free markets punish success.” How was he using this idea to explain the story of LTCM?
a. LTCM’s success caused an economic collapse.
b. LTCM’s success actually caused the founders to lose a lot of money.

c. LTCM’s success attracted competitors.
d. A & C

e. None of the above

8. In the Ducktales episode “Dough Ray Me,” (the one we watched in class), the excitement the Beagles boys showed over all the loot most closely resembles the phenomenon of:

a. Money illusion.

b. Inflation.

c. Noise.

d. A & B

e. None of the above

Part II: True/False. Answer true or false and justify your response. 10 points each.
9. If the Fed increases the money supply, then inflation must follow.
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

10. According to the Mark Twain reading, people from the Middle Ages lived a good life compared to the narrator’s. 
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

11. Concern that the world would end in 2000 was noise.
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
12. One argument for mild inflation depends on the presence of money illusion. 
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Part III: Short Answer. Answer the following. 15 points each.
13. Using the information below, graph a bull spread. Be sure to label the axes of the diagram and the points of maximum profit, of maximum loss, and of breaking even.
	5,000 Bushels of Wheat

	Strike Price
	Put (Jul)

	4
	$0.08

	5
	$0.24


14. Do the same as in (13) but with a bear spread.
